SWINGWEIGHT:

How to determine swingweight without a scale.

1. Find club weight in ounces (grams / 28.4).

2.       Find the balance point on the shaft (center of gravity) between the grip and the head and mark it (point 1).

3.       Measure 12 inches from the end of the grip and mark that point (point 2).

          Measure the distance between “point 1” and “point 2” in inches (distance 1).

4.
Multiply the total weight of the club by “distance 1”. This gives you a number that is the ounce-inches from “point 2” to “point 1”.

5. Ounce-inches is converted to a scale called a swingweight devised by 

         Robert Adams in the 1920’s.

Irons

Ounce-Inches

Woods

B-8

220

C-0

C-3

230

C-5

C-8

240

D-0

D-3

250

D-5

D-8

260

E-0

E-3

270

E-5

E-8

280

F-0

F-3

290

F-5

1 ounce-inch is equal to 0.5 swingweights.

Irons start at B-8

Wood start at C-0.

